
Formulas and Constants 
 

𝑔 = 9.80	𝑚/𝑠+ 
 
 
 

𝐀 + 𝐁 = 𝐂			 ⟹					 𝐴2 + 𝐵2 = 𝐶2			,			𝐴6 + 𝐵6 = 𝐶6 
 
 

𝐶2 = 𝐶	𝑐𝑜𝑠(𝜃)			,			𝐶6 = 𝐶	𝑠𝑖𝑛(𝜃)			,			𝐶 = >𝐶2+ + 𝐶6+			,			𝜃 = 𝑎𝑟𝑐𝑡𝑎𝑛 BCD
CE
F  

 
 

𝑣̅ =
Δ𝑥
Δ𝑡  

 
 

𝑣̅ =
𝑣 + 𝑣K
2  

 
 

𝑣 = 𝑣K + 𝑎𝑡			,			Δ𝑥 = 𝑣K𝑡 +
1
2𝑎𝑡

+			,			𝑣+ = 𝑣K+ + 2𝑎Δ𝑥 
 
 

𝑣 = 𝑣⃗2 + 𝑣⃗6			,			𝑣2 = 𝑣	𝑐𝑜𝑠(𝜃)			,			𝑣6 = 𝑣	𝑠𝑖𝑛(𝜃)			,			𝑣 = >𝑣2+ + 𝑣6+  
 
 
 

Projectile Motion 

𝑥 = 𝑣K2𝑡			,			𝑦 = 𝑣K6𝑡 −
1
2𝑔𝑡

+			,			𝑣2 = 𝑣K2			,			𝑣6 = 𝑣K6 − 𝑔𝑡 
 

𝑣K2 = 𝑣	𝑐𝑜𝑠(𝜃)			,			𝑣K6 = 𝑣	𝑠𝑖𝑛(𝜃) 
 

𝑇 = 	
𝑣K6
𝑔 			,			𝐻 =

𝑣K6+

2𝑔 =
𝑣K+𝑠𝑖𝑛+(𝜃)

2𝑔 			,			𝑅 =
𝑣K+

𝑔 𝑠𝑖𝑛(2𝜃)			,			𝑅TU2 =
𝑣K+

𝑔  


